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F877 Instruction Set

14-Bit Word
Byte-Oriented Instruction
F: File Register (or RAM)
D: Destination
D=0: Destination > W
D=1: Destination - File Register
Bit-Oriented Instruction
B: Bit Field
F: Register File where the Bit is located
Literal and Control Operation
K: 8-bit constant



General Form of Instruction

Byte-oriented file register operations
13 8 T B 0

OPCODE o f(FILE #)

d = 0 for destination W

d = 1 for destination f
f = 7-bit file register address

Bit-oriented file register operations
13 10 9 [ 0

OPCODE b (BIT #) f (FILE #)

kit bit address

o
f bit file register address

= 3.
=7-
Literal and control operations

General
13 8 7 0
OPCODE k (literal)

k = 8-hit immediate value

CALL and Go0To instructions only
13 11 10 0
OPCODE k (literal)

k = 11-bit immediate value




nstruction

ISt

P 14-Bit Opcode
Mnamanic, Description Cycles 2 Status Motes
Operands MSh Lsh | Affectad
BYTE-DRIENTED FILE REGISTER OPERATIONS
ADDOWF fd Add W oand f 1 o3 0l1l Afff ffff]| CDC2Z 1.2
AMDOWF fd AMD W wilh 1 o olol Afff ££ff £ 1.2
CLEF f Claar f 1 o o201 1f£ff f£fff £ 2
CLEW - Claar W 1 T3 0001 OMMM XXX £
COME fd Complement { i a0 1401 dfff f££f i 1.2
DECF fd Decrament | 1 o3 0311 Af£f £££f £ 1,2
DECFES fd Decrameant |, Skip if O 12) aa 1311 Afff fEf£f 1,2,3
INCF fd Incramant f 1 aa 1310 Afff fEL££f £ 1,2
INCFSL f,d Incremant f, Skip if 0 2 a0 1111 dfff f£££f 12,3
ICHWF f,d Inclusive OH W with f 1 o3 olod Afff £Eff £ 1,2
MOVF fd Move f 1 o 1000 Af£f ££ff i 1.2
MOVWE f flowe W o | 1 o odod 1£f£ff ££ff
MOF - Mo Dperation 1 o0 a3 Dwxd 000D
FLF fd Rotate Laft T through Carry 1 a0 1101 dfff f££f [ 1.2
RAF fd Rolate Right f through Carry i a0 1100 dfff £££f c 1.2
SUBWF fd Subtract W from § 1 o3 o210 Afff £fff]| CDC2Z 1,2
SWAPF fd Swap nibbles in f 1 aa 1110 Afff f£L£fff 1,2
XORWE fd Exclusive OR W with 1 o3  211¢ dAfff f££fff Z 1.2
BIT-ORIENTED FILE REGISTER OPERATIONS
BCF f b Bit Clear f 1 i adbbk bEfff f£££f 1,2
BSF f b Bil Sl f 1 a glbb bEfff f£££f 1,2
BTFSC f b Bit Tast f, Skip if Claar 112) a 1dbb bEfff £££f 3
BTFsS f b Bit Tast f, Skip if Sat 112) i 11hb bEff £££f 3
LITERAL AND CONTROL OPERATIOMS

ADDOLYY K Add literal and W 1 11 111x kkkk kkkik| CDCL
AMDLW k AMD litzral with ¥V 1 11 10301 kkkhk kikik £
CALL K Call subroutine e 10 okkk kkkk kikkik
CLRWOT - Claar Watchdog Timar 1 g aeet olle oloo| TOPD
GOT0 k Go o addrass 2 10 1kkk kkkk kikkik
HOHELW k Inclusive OR literal with W 1 11 1000 kikkhk  kikik £
MOV LYY K Maove litaral to W 1 11 adux kkkk kikkik
RETFIE - Raturn from infermupt 2 a0 @3 0003 1001
RETLW K Return with litaral in W e 11 ol kikkk  kigkik
RETURM - Relurn from Subroutine e o3 o302 0003 1000
SLEEF - Go into standby mode 1 g adoe 01la 0011| TOPD
sUBLWY k Subtract W from literal 1 11 110x  kkkk kikkik
XORLW K Exclusive OR litzral with W 1 11 1210 kb fhgleh




Destination of the result

D=0: Destination > W
D=1: Destination - File Register (Default)

addwf PORTD ;

Add content of PORTD to content of the W and
store the result back into PORTD

addwf PORTD, O ;

Add content of PORTD to content of the W and
store the result into W



Register Addressing Modes

Immediate Addressing
(ex) MOVLW 0OxOF

Direct Addressing

Uses 7 bits of 14 bit instruction to identify a register

file address

8t and 9t bit comes from RPO and RP1 bits of

STATUS register.

(ex) SSPCON EQU 0Ox14
STATUS EQU 0x03
SSPSTAT EQU 0x94

BCF
BCF
BSF
BCF

STATUS, 0x05
SSPCON, 0x01
STATUS, 0x05
SSPSTAT, 0x02



Direct Addressing

File
. : Address  Content
Byie-arignted o1 pis-oriented u'l."ilnl‘:ﬁnn il
- ﬁ 0] SFR ’\
[ [ Tole]i o]; ofo] »
LF -
RPO EI
STATUS register Page 0
ol GPR
EA |ofojolo]t]o]i]ofo
1 4 . X
Byie-oriemted or bit-oriented instruction u BSPSTATY SIR
13 6 0 9F A
111 ofof1]o]1]0]6
GPR Page 1
RFOD
STATUS register
RP1—™y
oo of0
>Wlciconcooo . \

v ]



Indirect Addressing

INDF register

Any instruction using the INDF actually accesses the register pointed to
by the File Select Register (FSR).

A 9-bit EA is obtained by concatenating the 8-bit FSR register and
the IRP bit(STATUS<7>)

Example: Erase the RAM section of 0x20-0x2F
Movl w 0x20; pointer

Movwf FSR RAM
Next clrf | NDF nstucior —

| ncf FSR Opcode | Addross |

btfss FSR, 4 :

i L_., File Address = INDF
gOt O neXt Oddress I=10) Address = 0h

______ RP1:RPO| fo 9
Instruction .

Fetched 2

Opcode | File | [IRF[  FSR |
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Direct vs. Indirect Addressing

DIRECT ADDRESSING INDIRECT ADDRESSING
RF1:HPO ] from opoode 1] =] T FSR register 0
ploj1(0joj0O|0]D
L ’ ¥ L ’ A ’ )
bank select  location EE|E-.'.-‘|| bank salact Ipcation selsct
L - 0 01 10 11 -
| 10k BOR 1000 180k
20 e
Heans
2F CLRINDF tclear  cLp (FSR)
what F5R
poinis, i.e,
TFh FFh 1TFh 1FFh
Bank O Bank 1 Bank 2 Bank 3



Instruction Sets

—description convention

Field Description
f Register file address (0x00 to 0x7F)
W Working register (accumulator)
b Bit address within an 8-bit file register (0 to 7)
k Literal field, constant data or label {(may be either an 8-bit or an 11-bit value)
x Don't care (0 or 1)
The assembler will generate code with x = 0. It is the recommended form of use for
compatibility with all Microchip software tools.
d Destination select;
d = 0 store result in W,
d = 1: store result in file register f.
dest Destination either the W register or the specified register file location
label Label name
TOS Top of Stack
PC Program Counter
PCLATH | Program Counter High Latch
GIE Global Interrupt Enable bit
WDT Watchdog Timer
TO Time-out bit
PD Power-down bit
[ 1] Optional
() Contents
— Assigned to
<= Register bit field
S In the set of
iralics | User defined term (font is courier)
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ADDLW Add Literal and W

Syntax: [ label] ADDLW  k

Operands: 0=k<255

Operation: (W) +k —-W

Status Affected: C,DC,Z

Encoding: 11 111x | kkkk | kkkk

Description: The contents of the W register are added to the eight bit literal 'k’ and the result is
placed in the W register.

Words: 1

Cycles: 1

Exampla1 ADDLW  0Ox15

Before Instruction
W= (w10

After Instruction
W= (x25

Example 2 ADDLH  MYREG
Before Instruction
W = Ox10

Address of MyREG T = 0x37

T MYREG is 8 symbaol for a data memaory bocation
After Instruction
W = (Oxd7r

11



ADDWF AddW and f

Syntax: [ label] ADDWF fd
Operands: 0=<f<127
de [0.1]
Operation: (W) + (f) — destination
Status Affected: C,DC,Z
Encoding: 00 0111 | dfff EEEf
Description: Add the contents of the W register with register 'f'. If 'd' is O the result is stored in the
W register. If 'd' is 1 the result is stored back in register 'f".
Words: 1
. Example 1 ADCWF FBE, D0
Cycles. 1 Before Instruction
W = Ox17
FSR= (xC2
After Instruction
W = 0OxD3
FSR= (mC2
Exampla 2 ADDWF  IHDF
Before Instruction
W = 017
FSR= (wC2
Contents of Address (FSR) = (wd0
After Instructhon
W = Qui7
FSR= OxC2
Conlents of Addreas (FER) = (x37

12



A N D LW And Literal with W

Syntax: [ label] ANDLW K
Operands: 0<k<=255
Operation: (W).AND. (k) = W
Status Affected: Z
Encoding: 11 1001 | kkkk | kkkk
Description: The contents of W register are AND'ed with the eight bit literal 'k". The result is
placed in the W register.
Words: 1
Cycles: 1
Example 1 BNDLW  OXSF
Before Instruction ; 0101 1111 (0x5F)
W = 0OxA3 ; 1010 0011 (0xA3)
After Instruction 4 mmmmmmmm mmemme
W = 0Ox03 ; 0000 0011 (0x03)
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ANDWF

AND W with f

Syntax:
Operands:

Operation:
Status Affected:
Encoding:

Description:

Words:
Cycles:

[ label] ANDWF  fd
0<f<127

de [0,1]

(W).AND. (f) — destination

Y

00

0101 dfff Efff

AND the W register with register 'f'. If 'd" is 0 the result is stored in the W reqister. If
'd"is 1 the result is stored back in register 'f'.

1
1

Example 1 ANDWF  FSR
Before Instruction ; 0001 0111 (0x17)
W = 0x17 ; 1100 0010 (0xC2)
FSR= 0xC2 e e
After Instruction : 0000 0010 (0x02)
W = 0x17
FSRE= 0Ox02
Example 2 ANDWF FSR, 0
Before Instruction ; 0001 0111 (0x17)
W = 0x17 ; 1100 0010 (0xC2)
FSR= 0xC2 e e
After Instruction : 0000 0010 (0x02)
W = 0x02
FSR = 0xC2

14




B CF Bit Clear f
Example 1 BCF FLAG REG, 7
Syntax: [ label] BCF  fb Before Instruction
0<b<s7 After Instruction
Operation: 0 — f<b> FLAG_REG = 0x47 ; 0100 0111
Status Affected: None
Encoding: 01 00bb | bfff EEEE
Description: Bit 'b" in register 'f' is cleared.
Words: 1
Cycles: 1
BSF Bit Set f
BSF FLAG REG, 7
Syntax: [ label] BSF fb
Before Instruction
Operands: 0=f<127 FLAG_REG =0x0A . 0000 1010
0<b<T7T .
. After Instruction
Operation: 1 f<b> FLAG_REG =0x8A ; 1000 1010
Status Affected: None
Encoding: 01 01bb | bfff 3333
Description: Bit 'b" in register 'f' is set.
Words: 1
Cycles: 1

15




BTFSC

Bit Test, Skip if Clear

If bit 'b" is '0" then the next instruction (fetched during the current instruction execu-
tion} is discarded, and a NOP is executed instead, making this a 2 cycle instruction.

Case 1:

Before Instruction
FC = addressHERE
FLAG=  axw0 xoxwex
After Instruction
Since FLAG=4>= 0,
PC = addressTRUE

Case 2:

Before Instruction

Syntax: [ label] BTFSC fb
Operands: 0=f<127
O=b=7
Operation: skip if (f<b=>) =0
Status Affected:  None
Encoding: 01 10bb bfff EEFF
Description: If bit 'b" in register 'f' is '0" then the next instruction is skipped.
Words: 1
Cycles: 1(2)
Example 1 HERE BTFSC FLAG, 4
FALSE GOTO  PROCESS_CODE
TRUE .

FC = addressHERE

FLAG= =]l o
After Instruction

Since FLAG=4>=1,

FC = addressFRLSE

16




BTFSS Bit Test f, Skip if Set

Syntax: [ label] BTFSS fb
Operands: 0=f=127
O=sb<7
Operation: skip if (f<b>) = 1
Status Affected:  None
Encoding: 01 11bb bEff FEEF
Description: If bit 'b" in register 'f" is "1" then the next instruction is skipped.

If bit 'b" is '1', then the next instruction (fetched during the current instruc-
tion execution) is discarded and a NOP is executed instead, making this a
2 cycle instruction.

Words: 1
Cycles: 1(2)

Case 1: Before Instruction
PC =  addressHERE
FLAG=  zxx0 zoxxx
After Instruction
Since FLAG=4=>=(,
PC =  addressFALSE

Example 1 HERE BTFSS FLAG, 4
FALSE GOTO  PROCESS CODE
TRUE .

Case 2: Before Instruction
PC =  addressHERE
FLAG= 3l xwxwx
After Instruction
Since FLAG=4==1,
PC = addressTRUE

17



CALL

Call Subroutine

Syntax:
Operands:

Operation:

Status Affected:

Encoding:

Description:

Words:
Cycles:

[label] CALL k

0<k<2047
(PC)+ 1— TOS,
k = PC<10:0>,
(PCLATH<4:3>) — PC<12:11>
None
10 Okkk kkkk kkkk

Call Subroutine. First, the 13-bit return address (PC+1) is pushed onto the
stack. The eleven bit immediate address is loaded into PC bits <10:0>. The
upper bits of the PC are loaded from PCLATH<4:3>. CALL is a two cycle
instruction.

1
2

Example 1 HERE CALL  THERE

Before Instruction
FC = AddressHERE
After Instruction
TOS = Address HERE+1
PC = Address THERE

18



CLRF

Clear f

Syntax:
Operands:

Operation:

Status Affected:
Encoding:
Description:
Words:

Cycles:

CLRW

[ label] CLRF f
0<f<127

00h = f
1=7

Z

Example 1

00 0ool1 1fFff EEff

The contents of register 'f' are cleared and the Z bit is set.
1
1

ClearW

Syntax:
Operands:

Operation:

Status Affected:

Encoding:
Description:
Words:
Cycles:

[ label] CLRW
Mone

00h —W
1=2

Z

Example 1

aad 0001 D MM

W register is cleared. Zero bit (£) is set.
1
1

CLEF FLAG REG

Before Instruction

FLAG_REG=0x5A

After Instruction
FLAG REG=0x00
a = 1

CLEW

Before Instruction
W = Ox5A
After Instruction
W
Z

0x00
1

19




COMF

Complement f

Example 1

Syntax: [ label] COMF fd
Operands: 0=f=<127 CoME REGL, O
d = [0,1] Before Instruction
Operation: () — destination REG1= 0x13
After Instruction
Status Affected: Z REG1= 0x13
Encoding: 00 1001 | Afff | fEFf W = OxEC
Description: The contents of register 'f' are 1's complemented. If 'd" is 0 the result is
stored in W. If 'd" is 1 the result is stored back in register 'f".
Words: 1
Cycles: 1
D E CF Decrement f Example 1
Syntax: [ label] DECF fd DECE oNT
Operands: 0<f<127 Before Instruction
d e [0,1] CNT= 0x01
Operation: (f) - 1 — destination Z =0
After Instruction
Status Affected: Z CNT= 0x00
Encoding: 00 0011 dfff Ffff Z = 1
Description: Decrement register . If 'd" is 0 the result is stored in the W register. If 'd" is 1 the
result is stored back in register 'f'.
Words: 1
Cycles: 1

20



DECFSZ Decrement f, Skip if 0

Syntax: [ label] DECFSZ fd
Operands: 0=f<127
d e [0,1]
Operation: (f) - 1 — destination; skip if result = 0
Status Affected: None
Encoding: 00 1011 | dfff | £fff
Description: The contents of register 'f' are decremented. If 'd" is 0 the result is placed

in the W register. If 'd" is 1 the result is placed back in register 'f".

If the result is 0, then the next instruction (fetched during the current
instruction execution) is discarded and a NOP is executed instead, mak-
ing this a 2 cycle instruction.

Words: 1
] Case 1: Before Instruction
Cycles: 12) PC =  address HERE
CHNT = =01
After Instruction
CNT = 0x00
PC = address CONTINUE
Example
HERE DECFSZ  ONT, 1 Case 2: Before Instruction
GOTO LOOP EET = gdc:b:lzress HERE
= b
CONTINUE : After Instruction
. CNT = 0x01
FPC = address HERE + 1

21



GOTO

Unconditional Branch

Syntax: [label] GOTO k
Operands: 0= k<2047
Operation: k = PC<10:0=
PCLATH<4:3> — PC<12:11>
Status Affected:  None
Encoding: 10 lhkk | kkklk kkceke
Description: 30TO is an unconditional branch. The eleven bit immeadiate value is loaded
inta PC bits <10:0=, The upper bits of PC are loaded from PCLATH<4:3>,
GOTO is a two cycle instruction.
Words: 1
Cycles: 2
INCF Increment f Example
Syntax: [ label] INCF fd INCE oNT. 1
: <f<
Operands: 0<f<127 Before Instruction
de [0,1]
CNT=  OxFF
Operation: (f) + 1 — destination 7z = 0
Status Affected: Z After Instruction
Encoding: 00 1010 | Qfff | £EEf gNT= ?xﬂﬂ
Description: The contents of register 'f' are incremented. If 'd" is 0 the result is placed in
the W register. If 'd" is 1 the result is placed back in register 'f".
Words: 1
Cycles: 1

22




INCFSZ

Increment f, Skip if 0

Syntax:
Operands:

Operation:
Status Affected:
Encoding:

Description:

Words:
Cycles:

[label] INCFSZ fd

D=f=127
d e [0,1]
(f) + 1 — destination, skip if result =0
None
00 1111 | dfff | f£ff

The contents of register 'f' are incremented. If 'd" is 0 the result is placed in
the W register. If 'd" is 1 the result is placed back in register 'f.

If the result is 0, then the next instruction (fetched during the current
instruction execution) is discarded and a NOP is executed instead, making
this a 2 cycle instruction.

1

1(2) Case 1:  Before Instruction
FC =  address HERE
CNT =  OxFF
After Instruction
CNT = 0x00
Example PC = address CONTINUE
HERE INCFSZ  CNT
GOTO LOOP Case 2: Before Instruction
CONTINUE e PC =  address HERE
. CNT = 0x00
. After Instruction
CNT = 0Ox01
PC =  address =ERE + 1

23



IORLW

Inclusive OR Literal with W

Syntax:
Operands:
Operation:

Status Affected:

Encoding:

Description:

Words:
Cycles:

IORWF

[ label] 1ORLW k
0<k<255

(W).OR. k — W

y4

11 1000 kklklk klkk

The contents of the W register is OR'ed with the eight bit literal 'k’. The result is

placed in the W register.
1

1

Inclusive OR'W with f

Example
IORLW  0x35

Before Instruction

W = Ox9A
After Instruction

W = 0OxBF

Z = 0

Syntax:
Operands:

Operation:

Status Affected:

Encoding:

Description:

Words:
Cycles:

[label] 1ORWF fd

0=f=127
de [0,1]
(W).OR. (f) — destination
z
00 0100 | dfff | E£ff

Example

IORWF EESULT, O

Before Instruction
RESULT=0x13
w = 0x91

After Instruction
RESULT=0x13
W 0x93
z i}

Inclusive OR the W register with register 'f'. If 'd" is 0 the result is placed in

the W register. If 'd" is 1 the result is placed back in register 'f.
1
1

24




MOVLW

Move Literal to W

Example
Syntax: [ label] MOVLW k
Operands: 0=<k=255 MOVLW  OxSA
Operation: k—=W After Instruction
Status Affected: None wo= A
Encoding: 11 0D0xx | kkkk | kkkk
Description: The eight bit literal 'k’ is loaded into W register. The don't cares will assemble as 0's.
Words: 1
Cycles: 1
MOVF Move f Example
Syntax: [ label] MOVF fd MOVF  FSR, 0
Operands: 0<f<127 Before Instruction
W = 0Ox00
de [01] FSR= 0xC2
Operation: (f) — destination After Instruction
Status Affected: Z ;‘f ; g?"’:z
Encoding: 00 1000 | dfff EEfEF
Description: The contents of register 'f' is moved to a destination dependent upon the
status of 'd". If 'd" = 0, destination is W register. If 'd" = 1, the destination is
file register 'f'itself. 'd' = 1 is useful to test a file register since status flag Z
is affected.
Words: 1
Cycles: 1

25



MOVWF

Move W to f

Syntax:
Operands:
Operation:
Status Affected:
Encoding:
Description:
Words:

Cycles:

NOP

[label] MOVWF  f
0<f<127
(W) — f

Mone

ad o000 1fff

EEEE

Move data from W register to register T

1
1

No Operation

Example

MOVWE OPTION EEG

Before Instruction
OPTION_REG=0xFF
W = Ox4dF

After Instruction
OPTION_REG=0x4F
W= Ox4F

Syntax:
Operands:
Operation:
Status Affected:
Encoding:
Description:
Words:

Cycles:

[ label] NOP
None
Mo operation

None

00 oooo Oz 0

0oao

Mo operation.
1
1

Example
HERE NOP

Before Instruction

PC = address HERE
After Instruction
PC = address HEre + 1

26



RETFIE

Return from Interrupt

Synitax: [ label] RETFIE
Operands; Mone
Diparation: TOS = PC,
1= GIE
Status Affected: Mone
Encoding: a0 opod | oopo | 1003
Dascription: Return from Intarrupt. The 13-bit address at the Top of Stack (TOS) is

lpaded in the PC. The Global Inferrupt Enable bit, GIE (INTCON<T=), is
automatically sel, anabling Interrupls. This iz a two cycle instruction.

Words: 1 Examiple
Cyﬂmﬂ: Z HERE CALL TABLE ;] W containg table
: offset value
. ;] W now hag table value
L]
IAE ADDWE P W = olfsat
RETLW k1l rBegin table
RETLW Return with Literal in W RETLW k2 ;
Syntax: [ label] RETLW k :
Operands: 0=k<255 RETLW kn ; End o
Operation: k — W, Before ln;:rruc:ing o
TOS — PC After Instruction
. W = wvalue of kB
Status Affected: None PC = TOS = Address ers o 1
Encoding: 11 0lxx | kkkk | kkkk
Description: The W register is loaded with the eight bit literal 'k'. The program counter is
loaded 13-bit address at the Top of Stack (the return address). This is a
two cycle instruction.
Words: 1

Cycles:

2




RETURN Return from Subroutine

Syntax: [ label] RETURN

Operands: None

Operation: TOS — PC

Status Affected: None

Encoding: 00 0000 | 0000 | 1000

Description: Return from subroutine. The stack is POPed and the top of the stack
(TOS) is loaded into the program counter. This is a two cycle instruc-
tion.

Words: 1

Cycles: 2

28



RLF

Rotate Left f through Carry

Syntax: [ label] RLF fd
Operands: 0=<f=<127
de [0,1]
Operation: See description below
Status Affected: C
Encoding: 00 1101 | dfff fEFE
Description: The contents of register 'f' are rotated one bit to the left through the Carry
Flag. If 'd" is O the result is placed in the W register. If 'd" is 1 the result is
stored back in register 'f'.
-_{ Register f |-—‘
Words: 1
Cycles: 1
RRF Rotate Right f through Carry
Syntax: [ label] RRF fd
Operands: D=fs 127
de [0,1]
Operation: See description below
Slatus Affeclted: C
Encading: 1100 | dfEF FEEE
Description: The contents of register T are rotated one bit 1o the right through the Carry
Flag. If 'd' is O the resull is placed in tha W register. If *d" is 1 the result is
placed back in register 'T.
Words: 1
Cyclas: 1

Example

ELF REEG1, O

Before Instruction
REG1=
c = 0

After Instruction
REG1=1110 0110
W =1100 1100
c =1

1110 0110

Example

REF EEGL1, 0

Before Instruction
REG1= 1110 0110
W = sowww oo
C = 0

After Instruction
REG1= 1110 0110
W 0111 0011
C = 0
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SUBLW

Subtract W from Literal

Example
SUBLW 0x02

Before Instruction

W = 0x01
Syntax: [label] SUBLW k C = x
Operands: 0<k=255 2 = x _ _
Operation: k- (W) > W After Instruction; result is positive
W= 0x01
Status Affected: C,DC, Z c = 1;{
Encoding: 11 110x kkkk kel Z =10
Description: The W register is subtracted (2’s complement method) from the eight bit
literal 'K'. The result is placed in the W register.
Words: 1
Cycles: 1
Example
SU BWF Subtract W from f
SUEWF REG1,1
Syntax: [ label] SUBWF f.d Before Instruction
Operands: 0<f<127 REG1= 3
d e [0,1] W = 2
Operation: (f) - (W) — destination C = x
Status Affected: C,DC, Z Z =x
Encoding: 00 | 0010 | Afff | fEff After Instruction
Description: Subtract (2's complement method) W register from register 'f. If 'd" is O the EFEG 1_: ;
result is stored in the W register. If 'd" is 1 the result is stored back in reg- c ~ 1
ister 'f'. -
Z =0
Words: 1
Cycles: 1



SWAPF Swap Nibbles in f

Example
Syntax: [ label] SWAPF f,d
SWAPF REG, 0
Operands: 0=f<127
d e [0,1] Before Instruction
Operation: (f<3:0>) — destination<7:4>, REG1= 0OxA5

(f<7:4>) — destination<3:0=
Status Affected: None

After Instruction

REG1= OxAS5
Encoding: 00 1110 | dfff | f£ff W = 0x5A
Description: The upper and lower nibbles of register 'f' are exchanged. If 'd" is 0 the
result is placed in W register. If 'd" is 1 the result is placed in register 'f".
Words: 1
Cycles: 1
Example
XORLW OxAF ; 1010 1111 {0xAF)
XORLW Exclusive OR Literal with W ,
Before Instruction ; 1011 0101  {0xBS5)
ayntax: [ label] XORLW Kk W = OxBS o
rands: <k=2
Operands 0 % After Instruction ; 0001 1010  {0x1A)
Operation: (W)LXOR. kK =W
W = 0x1A
Slatus Affected. Z Z =0
Encoding: 11 1010 | kkkk | kkkk
Description: The contents of the W ragister are XOR'ad with the eight bit literal 'k'. The
resull is placed in the W register.

Words: 1

Cycles: 1 31



XO RWF Exclusive OR W with f

Syntax: [ label] XORWF f.d
Operands: 0<f<127
d e [0,1]
Operation: (W).XOR. (f) — destination
Status Affected: Z
Encoding: 00 0110 | 4fff fEFE
Description: Exclusive OR the contents of the W register with register 'f". If 'd" is 0 the
result is stored in the W register. If 'd' is 1 the result is stored back in regis-
ter 'f.
Words: 1
Cycles: 1
Example
XORWEF REG . 1010 1111 (OxAF)
Before Instruction ; 1011 0101  (0xB5)
REG= OxAF §ommmmmmmem mmeeen
W= 0xB5 ; 0001 1010  (0x1A)
After Instruction
REG= O0x1A
W = 0xB5






